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College Algebra — Joysheet 4

MAT 140, Fall 2012 — D. Ivansic Show all your work!

Solve the inequalities. Write yvour solution in interval notation.

1. (6pts) 4 <3r—1 <21 |'+u 2. (7pts) 22— 1<3cr22+32>210
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3. (5pts) Find the domain of the function f(z) = ——— (in interval notation),
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4. (14pts) You inherit $20,000 and can invest it in two different investments, one paying
3% simple interest, and the other paving 4% simple interest. If you wish to have 20,500 after

10 months, what is the least amount you must invest at 4%7
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5. (14pts) In 2 hours and 40 minutes. Meryl rows her kayak upstream to a point on a river.
Then she rows downstream to the starting point in 2 hours. If the river flows at 2mph, what

is Meryl's rowing speed in still water?
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6. (14pts) How many liters of a 12% solutions of hydrochloric acid must be mixed with 2
of hydrochloric acid in order to get a 153% solution?

X= Bty <L 127, s

liters of a 20% solution
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